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D 25+55+75 = 155 @ 21xX99 = 2079

(25+75)+55 = 100+55

@ 24X25 = 600

(4X6)X25 = (4X25)X6 = |00X6

@ 1IxXI103 = 1133
I 1X(100+3) = 100X | [+3x 11 = 1 100+33
@  99%65 = 6435

(100—1)X65 = 100X65—X65 = 6500—65

® 25X48 = 1200

25X (4% 12) = (25X4)X12 = 100X | 2

® 83+76+24 183

83+(76+24) = 83+100

@ 22+21+79 = 122

22+(21+79) = 22+100

25%32 = 800

25X (4X8) = (25X4)x8 = 100%8

21%(100—1) = 100X21—1x2] = 2100—2|

| 2X25 = 300

(4X3)X25 = (4X25)X3 = 100x3

@ 103x22 = 2266

(100+3)X22 = 100X22+3%X22 = 2200+66

@ 86+67+I14 = | 67
(86+14)+67 = 100+67
(®) 28X25 = 700

(4XT)X25 = (4X25)XT = |00X7

@ 75+41+459 = 175
75+(41+59) = 75+100
® 34%x102 = 3468

34X(100+2) = 100X34+2X34 = 3400+68

qax73 = 7227

(100—1)X73 = 100X73—1x73 = 7300—73



